T Tilting NG Rotary Table

LN TT182-TW182

¥TW is the side motor type tilting table

High stability tilting table to suit 5 axis
machining

@Built in air hydraulic boosters deliver
high clamping torque on both axes

@Compact design

@High speed

@High rigidity

@®BLuilt in rotary joint (option) allows
simple and secure jig piping

@Air booster or direct hydraulic clamp-
ing options available

* CE correspondence

TT182

#%In specification with the foreign trade control ordinance, permission of
the ministry of economy, trade and industry is required when exporting
twin axis products overseas.

Sample Application

4 Provided for high
accuracy b-axis
machining.

Complete built-in rotary joint (option)

40nly Kitagawa can offer
this combination of NC
Rotary Table and chuck

0ld model

Simplified
Pipework

P

@®Installation of optional rotary joint



(ditagawa

4th axis specifications

TT 182 B * R # %

TT 182 B VR #* %

Table size Design No. Table size L Design No.
182 Motor | option spec. 182 Option spec.
type R :Rotary Joint R :Rotary Joint
) y ) C:Outer cylinder
Type Clamping method C:Outer cyiinder Type Clamping method ~ :Non- option
TT:STD type B: Air-Hydraulic ~*Non- option TT:STD type B:ArHydradc — Quinte specification
TW: Titing straight type  (inteerated air hydraulic booster) TW: Titing straight type Mtegatedar fytaic buost)
H:Hydraulic H:Hydraulic

B Specifications
Model TT182,/TW182
Tilting angle —35° ~+110°
Table dia (mm) ¢ 180
Register diameter on Face Plate (mm) $65H7
Spindle through hole diameter (mm) 40
Centre height at verticality (mm) 180
Clamping method Air-Hydraulic/Hydraulic
Clamping torque  (N-m) | Rotating axis 450
(In pneumatic 0.5MPa/hydraulic 3.5MPa) | Tilting axis 800
. o Rotating axis 0.000242
Motor axis reduced inertia (ke:m2)—— :
Tilting axis 0.000135
Servomotor (for FANUC specification) «iF 2/5000
. Rotating axis 1,90
Gear ratio — -
Tilting axis 1,/180
Rotating axis (for min"/motor3000rin) 333
for FANUC specification | —— -
. Tilting axis (for i/ motor3000rin) 16.6
Max. spindle speed ..
Rotating axis (formi"/motor3000rin”) 333
M signal specification [ X
Tilting axis (for mii"/motor3000ri) 16.6
Allowable work inertia  (kg-m2) 0.25
. Rotating axis 20
Indexing accuracy (sec) — :
Tilting axis 60
Repeatability  (sec) 4
Mass of product TT/TW  (ke) 163,178
o . RJ40FTT 182
Built-in rotary joint (option - P97 reference) . . . .
Hyd./pneumatic 4-port + Exclusive pneumatic 1 port of air
Pneumatic outer cylinder (option - P61, 62 reference) NY1312T18B
Hydraulic outer cylinder (option - P61, 62 reference) NY0912T18A
at horizontal (kg)
0 o
Allowable Load 2t tited ()
(ﬁ 40
F (kN)
- s’ 5
Allowable load FXL (N-m)
(When clamped to table) 800
FXL (N-m
R 450
T (N-m) (AN
Allowable cutting torque | 3 250
Moment of titting weight capacity WAk hetm =ET 12

Note) 1. The switch for pressure checking is incorporated to all series except TC/DM of NC tables. 2. In case of air + hyd. clamp specification, the solenoid
valve for table clamp is incorporated. 3. In a hyd. clamp spec., the solenoid valve is not incorporated. Consequently, customer shall prepare it.
4. Neither cable nor hose is fitted between NC rotary table and machine tool... 5. Each product mass is determined by a Kitagawa M signal spec.




B TT182-TW182

HEDimensions [4th axis specifications]

TT182
65H7
Re1/4 ¢ —
Clacm i 150 , 131 $52 =
ping hyd. supply port 1711205
(at spec. of oil pressure) Table surface :
7 v 45 Hex bolt
0 P = M16X65
by 3-M6 @
3 40 @ ¥ﬁ
9 & i M6 a8 ‘24
— T
< N $40H8 oziiﬁ
[}
| 2 $50 1285
117 Thru-Hole Diameter  Clamping Device
110[120 Rci/4
4180, Clamping air supply port
~ 0 (at spec. of air booster) 10
: 2 ‘ 4
8 2 F1 -
8 2 i ! 3 >
| © ! [ U
g ® 11,1
115]115 <t
230 285 Table T-slot Groove
128 400
528
TW182
$65H7 Hex bolt -
i $52 M16X65 =D
M6 Table surface 17] | |20.5
CFI;(;;;/);Q hyd. supply port - s } a’ﬁkg
(at spec. of oil pressure) 3-M10 . o ° [ Tg40 @ @ L?
, — & 3 !
> © i rud
© 4 2 & ||| gM6 — 28 e
N a T [V * 1] T
—1 [[°g Q . 11 v $40H8 S
o I Nzl 8 " Tgs0 28.5
: i
Thru-Hole Diameter Clamping Device
117
. Rel/4 110120
Option Clamping air supply port ¢ 180
Rotary Joint at spec. of air booster) | |10 | 12
I - rThEL 1 T
’ 8 ﬁ 8 8 >
| [ =} [ ' [\ T
[ee]
@ "~ y @\ ¥ [ — y Lﬂ)j
<t lal ] 115]115 <t
230|246 Table T-slot Groove
102|198 237 128 361
864 489




(ditagawa

HEDimensions [Kitagawa own controller] sThe dimensions may vary from motor to motor that is mounted.

TT182
Rc1/4
Clamping hyd. supply port 150 57
(at spec. of oil pressure) . $65H7 Taple surface =l
R [
- 3M ¢52 5 711205
& 150 Q. 3 ~ ‘ =110 Hex bolt
SRS 4 ‘ \ 8 M16X65
T ~ o ‘ 40
0 - 3] © [
8 v 2 gl ] 6-M6 yul
© h ﬁe | i 4@#3?48 24
S o ISR 9 40H8 J@‘
- o =
\ — 450 28.5
3-M10
J17, Thru-Hole Diameter = Clamping Device
110[120 Rc1/4
¢ 180 Clamping air supply port
N i (at spec. of air booster) 12
R S i T f — 8-
8 ol == | | L] [==
‘_J g o }@ E © | g \d ] ! [}
[ee]
S 2 N . X
N Lﬁ7@1%7 <7 115]115
24 237 196 | 131 230 285
Table T-slot Groove
261 13 237 327 128 400
577 528
TW182
Rc1/4 465H7 o]
Clamping hyd. supply port 3-M6 |¢52, Table surface 17111205
(at spec. of oil pressure) ‘ 45, -
i 3 5 ; re} Hex bolt
_ 91\7“ L Mga0 19 M16X65
© o o
= 3 o = § © | 6-M6 @ L,j
d 82 04 ° 1 % i v 8+ i l | jﬁ ‘
i 80_ — |48] |24
g S 99 o 1 E 7 - e
— 50 @28 5
3-M10 S8
117 Thru-Hole Diameter Clamping Device
. Rci/4 110/120
Option Clamping air supply port | #1189
Rotary Joint at spec. of air booster) || |2 | 12
PRI Fr— | T
E = 4u 2] L - =
) 0 A i 5 T 1w f—r— E ‘ 5 =
E=RERilE =il Il
= 21
<1 ol j[18h7 115] 11 <t
196 | 131 230_| 169 Table T-slot Groove
43 198 237 327 128 284
805 412

DAT Tilting NC table - Work loadable area

TT182/TW182

40°
:

$200
3
/—V—k—l—\ \ w‘ [
—-35~0° 0O°(horizontal)~ +90°(vertical) +90°~ +110°




B TT182-TW182

HEDimensions [4th axis specifications]

Cylinder

HEPneumatic outer cylinder spec.

Number of ports Mer (dia. of cyl.

Piston stroke

Piston thrust (kN)
Air pressure 0.5MPa Air pressure 1.0MPa

TT182 [Pneumatic outer cylinder spec.]
o $65H7
Tilting axis centre
150 131 $40.5 Table surface o
/. 17| |205
r(l ] ELLL I8 45 Hex bolt
0 - ‘ z|% j—f 3 M16X65
] 2 \ = <§( 3
w
° Q ﬁE:
?g (& S "77@, 30 ' [48] |24
[3V) [ T
u; S I 1 () J@
o - e L
i = C ~ 0 28.5
$157 B
M16X2 $192
Rc1/4
Supply port Cross section A-A Clamping Device
(for outer cyl.) 180 —_—
& . 12
[a\] <
E] A ; ﬂ—fé
P > M [ A& ] 1 900
8 ~ A = I o -
8 - 57 o E © | 8 1 = é' 2]
™ 5 ™ )
= z
S == Y ! ] Y L1
| V
&l wh A N N
18h7 115 | 115 Table T-slot Groove
24 237 196 | 131 230 285
261 327 128 400
588 528

Max. allowable
air pressure

HEHydraulic outer cylinder spec.

Piston thrust (kN)

Max. allowable

mm) (mm) Push Pull Push Pull (MPa)
NY1312T18B | _Air: 3-port 135 12 4.9 47 9.8 9.4 1.0 9.0
TT182 [Hydraulic outer cylinder spec.]
Tilting axis cent ¢65H7
Iiting axis centre
150 | 131 #40.5 Table surface Hex bolt o
E \% &
[Te) Z| X
=| <
2 - C\%ﬁ\ I~ ==
(o] —
o 8 f - 1976‘0
3 g & j
R s ] y
0 ) 711 [Tl
- - $90
M16X2 $120
Ret/4 Cross section A-A cl i i
- amping Device
Supply port _—
(for outer cyl.) __$|180
N & 12
(V) <t |
= —A %’_'é
KIS £ [ A& J‘ - 000
gl R ==l | f—— o =
0| H E || 0 UL < ()]
o O @ W D © o Ne o L
® S ® | ®
o H 21
e el | T, e
v
& 0 LA St 31
18h7 115_ 115 Table T-slot Groove
24 237 196 | 131 230 285
261 327 128 400
588 528

Cylinder

NY0912T18A | Hyd.. 2-port+Air. 1-por

Inner dia. of cyl.
(mm)

90

Piston stroke
(mm)

12

Mass
(kg)
7.7

Number of ports Hydraulic pressure 3.5MPa

Push Pull
18.2 17.1

hyd. pressure
(MPa)

3.5

% 1.The above dimensions are the same as FANUC spec. Those dimensions may vary from motor to motor that is mounted.
2. In outer cylinder mounting spec., centre height varies to 200 from 180.




(ditagawa

HEDimensions [4th axis specifications]

TW182 [Pneumatic outer cylinder spec.]

o $65H7
Tilting axis centre $40.5  Table surface
2 IE IS . 17) | |205
- . ><
,7§‘ - \ é <§< o Hex bolt
) = S S M16X65
Y I\ 0 @
_ o /97 [
N 3 ] A —| % “#f
E = o o !30! 48J‘ 24
v el
M16X2 $192 % F28-5
Rc1/4 110 | 120
Supply port 4180 Cross section A-A Clamping Device
(for outer cyl.) "
[ T A A | a’—ﬁm
el 1 _
o ‘ »w - 1=q
o S~ —T —- = -
o 1K P Ol s i — L =
™ o [$) | o
g & —= de
=15 L 21
3 S 2]
§P & LOT —A S
|18h7 115_| 115
196 | 131 230 246 Table T-slot Groove
102| 198 237 327 128 361
864 489

TW182 [Hydraulic outer cylinder spec.]

$65H7
Tilting axis centre $40.5 Table surface Hex bolt |
- / 17 .
[sp)

o — 8

[a\) (3]

N 7778

Rc1/4

Supply port 4180, Cross section A-A Clamping Device

(for outer cyl.) o ‘

HE] A 12
[ 3

o ‘ M s ]
0 TEeH T e ‘ -
o 4 ' © | [=] o
ik Ol : w

S : 21

+ T
St &l ol a
187, 115115 Table T-slot Groove
196 | 131 230 246
102| 198 237 327 128 361
864 489

% 1.The above dimensions are the same as FANUC spec. Those dimensions may vary from motor to motor that is mounted.
2. In outer cylinder mounting spec., centre height varies to 200 from 180.




